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FEJEN: 1.01 ZTEAT10 4%, 02 AT 8 &, 03 AT 12 %, 04 5@ AaT 10 %, 05 H AT 8 4% ;
2. 806, SMERERESREE R # & (40 4, 40 4, 362 5) ;
3.01 T™aT 5 %, 02 7 @al 4 4%, 03 5 @Al 6 &, 04 ZmAr5 %, 05 @At 4 4, £4K
=70 4, HeF AL ERE =80 4
4. E ViR (BREF MK, TRE) =90 4%, @iX=120 4
5. A FH: 01 Z AT 5 &, 02 7 AT 4 %, 03 T ™Al 6 %, 04 T AT 5 %, 05 @ af
4%, EpRFERSHEARLERLLZTE 4, MEEHTE 4 5,

WmBE, RS E, BEEZR,. BB A, ASHAEABHK
TR : 1. &R T A E LA MG, BUs, MiEfERESKE E RS & (40 4, 40 4, 362 42);
HiE=90 4, @IX=120 5 EALBFLFE—L=T704, H=4=>80 5
2. R FI: SR T @ELE 4, EnRIER;HRELERLIE=T5 9, SMiEEA
% 4 5

%5 FIx
TR : 1. &R T A E LA MG, BUs, MiEfERESKE E R & (40 4, 40 4, 362 5°);
HLiE=90 4, @IX=120 5 EALBEFLFE—L=T704, H=4=>80 5
2. R FI: SR T @ELE 4, EnRFER;HELERLIE=T5 9, SMiEEA
% 4 5

FRIREH/HBZIRFR
REURRN : BOE, IMERBERES LB E T4 & (40 4, 404, 362 4) ;
FWR=90 4, @MIX=120 45 FALE5 =414 5

BAFK
FKEBEN: 1.01 Fm: Bog, MR RESRIB R y%% (374, 374, 27134 ;
FWiE =90 5, @IR=120 4 ; Lk E 45 =500 5.
2.02 F5m: BiE. SMERERESRIE RS KK (374, 374, 273 4) ;
+ =90 4, @K =120 4~; B4 =500 4,
3.03 Am: Bib. SMiEARERESEIERS;HE (394, 394, 2754 ;
F Wi =90 5, @IR=120 4; k¥4 =535 5,
4.04 7 : Bubs, ShiERERESRB B R oMK (374, 374, 273 4) ;
F iR =90 5, @IR=120 4 ; ok E 45 =480 5
5.06 ) : Bug, SMERERESZIE R, MK (334, 334, 2524°) ;
F =90 4, @IA=120 4 F kB4 =500 4.
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REBRW: FLFEEHFATE, BG, SMEREREDEI AL, HKE (40 %, 40 %, 362 %) ;
FRFEEFRLTTE, Bk, ShERERES; R E L& (399, 399, 2754



FLR=90 4, @iX=120 55 F AL E5>528 4.
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FEURM - %k?%x_?\fﬂfmﬁﬁ B, ShiERE R E SRR E XK (40 %, 40 9, 362 %) ;
FRFEEFRLTTE, Bk, ShERERES; R E L& (399, 399, 2754
F iR =90 4, @IX=120 55 iR 45 5 =530 5

ALFE%
%mﬁm-ﬁ%\%ﬁ%l%HAgﬂ!%/i&(m%,mﬁywa%>;%ﬂ%>%ﬁg
X =120 4 FTRE LB 45 =523 5,

TRAREEEHFTFR
FEBEN: Bos=> MA»%%zmﬁ»l s
X =120 4 FTHE AL B4 39%0

£FAR%E
FREREN: #s., sMERERE ’\:\@J%’n\ & (40 9, 40 4, 362 %) ; ELE=90 4,
ik =120 2 FRE I E 5 =519 4,

#503 2)
Y $ R F T R

FEBEM: BRES=251 49 X3E=60 4 HiE=90 4 @iA=120 4
1. PESFR, @R, REFZ. a4, EASHAMI. B L
‘;%7]‘54‘1/\ 65/\.
W E @ 1 B 5 =>430 4
B R Lk B9 =560 4
BB F H Ak B =400 4
B3 2+ b 5.5 =>380 4
A A AR b B 5 =570 4
% 8 %% 0k B 5 =430 4
2. FBRERFR
+ 4 B =414 4
3. ERAF L
b B =460 5
4. %t 51
%k B =528 5
5. Wi FIE
+ 0k B 5 =530 4

B KFE LRI
FEEN: Bus., MERERESEIER KL (40 5, 40 5, 362 %) ;
+ =90 4 @K =120 5.
1. ‘P.u—’j—FJL
EFARAL® =704, I E45H5=430,
2. RBERFR



F A B =414 5,
3. HAFIT

+ .k B 5 =500 4
4. %7

b B =528 5
5. WXt F R

+ .k B 5 =530 4
b. TRAEREHFF R

F LB 5 =624 5.
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FEURN . 4ME=30 4 FALiE=90 4
1. %3 &
£REH=T70 4 + 1,
2. BRFIZ
+ 0k B =460 5
3. %t FR
%k B 5 =528 4.

(R

4~=555 4

TRERXFRBLEL
2024 54 A 1 B



